"function" definition

function tests

"relation" definition

function notation: straight lines
function notation: anything
implicit/explict definition
implicit functions
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Absolute value

X & X&0

‘C®=\Y\\= ZX & x>0
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become an expert at graphing function
and adjusting the view on your graphing
calculator. do it now! :)

18



algebreic operations on functions: Notation
£09)-20%) =(F-90)
€60 +§d) =(E+a)(x)
€ * 9 =@*})®
Hx) = (¥ <& }) ) 9w+0
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€+ DX =) (X =3x%ax
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stretching and compressing graphs
(pics on pg 48-49)
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Composition of functions
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a6R) ~()
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Translations (pg 54 ex9,10)

= HO+C
00 = #x-9

shf¥ ¢ uniks
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M Xaxis
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Reflections (pg 56)
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Families of functions

linear V=X

oo JX M ¥X

fx)=x" Y={X

rational ¥= xﬁ' et & P&‘y\\l‘\.\&b

trigonometric  SMX, Ql-q
exponential and logar'l’rhmuc Onx e

27



28



Co)=X"

&

Q..

29



30



(1)

2.718281828459045
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C1ecemion LoncHons

£0d < st & x>0

-2x W X<o
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el)=0
D=0
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Implicit: T expected you to do a better job
Explicit:  you are a moron

Bpliat  £)=zxl,

Y=3x&(

Bulat  xy-x
XY Y y::?)
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homework 7-8-13 (4th edition)
sec2-1(pg81) 4,9,11,25,37,43 51,61
sec2-2(pg90) 1,3,7,15,21,34
sec2-3(pgl02) 11,36 ,42,47 57
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slope of a straight line

Defn, examples, computation

slope of a curve...
slope of a secant line
limit(intuitive) as h(Ax) gets small
slope of tangent to curve
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Me(X=8) =
3 Mo 0e=2) = L'l

T = 1 ()
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Velocity and Speed

speed is distance over fime
velocity is a) speed in a particular direction
——> b) displacement over time
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1 g mile D sec

_ dist _\_»L -
LS ml
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Distance, Displacement, and Location

Distance is how far you have travelled
Displacement is how far you are from where you started
("as the crow flies")
Location is where you are... (x,y) with (0,0) as a starting point
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S=pssi+oD
A= Hme

vla W\b‘\'\()"\

SKX)= %qxﬂ— Vo X+ S,

V(X)=ax+\4
a(X)=a

acleed

%
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SK) = Laxs \hpx+s,
V()= ax«\4

an object starts with a

velocity of 22m/s and an

acceleration of -7m/s°. At

what time will the object

have a velocity of Om/s?
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an object starts with a Sp=0n
velocity of 22m/s and an
acceleration of -7m/s?. At

what time will the object

have a velocity of Om/s?

VX)=0= () x+22
N=22
b—% Seemds

SK) = Lax* \x+s,
V(X)=ax«\4
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an object starts with a
velocity of 22m/s and an
acceleration of -7m/s?. How
far does the object travel
before it comes to rest?

Se =0wn

SX) = LaxF \Wx+s,
V()= ax+\,
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an object starts with a Sp=0n

velocity of 22m/s and an \ (X) =aqX*\4

acceleration of -7m/s?. How
far does the object travel
before it comes to rest?

S(x)= LG?) (%) N 22_(1:?—) 0

5(X)= 22" ?.2"
7

scx)=lm "

SK) = Lax+ \Wx+s,
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